

Dolomites Research Notes on Approximation

Volume 18 · 2025 · Pages 41–48

Ostrowski type inequalities for 3-convex functions

Sanja Kovač^a · Josip Pečarić^b · Penava, Mihaela Ribičić^c

Communicated by Donatella Occorsio

Abstract

The main aim of this paper is to derive new Ostrowski type inequalities for 3-convex functions and for functions whose modulus of derivatives are convex, using the weighted Montgomery identity and the weighted Hermite-Hadamard inequalities. Additionally, certain Hermite-Hadamard inequalities for 3-convex functions are provided.

1 Introduction

The following inequality, which establishes an approximation of the integral

$$\frac{1}{b-a}\int_{a}^{b}f(t)\,\mathrm{d}t$$

with the value of a function at an arbitrary point, is known in the literature as the Ostrowski integral inequality (see [1]). That is

$$\left| f(x) - \frac{1}{b-a} \int_{a}^{b} f(t) dt \right| \leq \left| \frac{1}{4} + \frac{\left(x - \frac{a+b}{2}\right)^{2}}{\left(b-a\right)^{2}} \right| (b-a) \left\| f' \right\|_{\infty}$$

for all $x \in [a, b]$, where f is differentiable and $f' \in L_{\infty}[a, b]$. The above inequality can be proved by using the Montgomery identity ([2])

$$f(x) = \frac{1}{b-a} \int_{a}^{b} f(t)dt + \int_{a}^{b} P(x,t)f'(t)dt,$$
(1)

where $f : [a, b] \rightarrow \mathbb{R}$ is absolutely continuous on [a, b] and P(x, t) is the Peano kernel defined by

$$P(x,t) = \begin{cases} \frac{t-a}{b-a} & \text{for } t \in [a,x], \\ \\ \frac{t-b}{b-a} & \text{for } t \in (x,b]. \end{cases}$$
(2)

With these observations in mind, we apply the weighted Montgomery identity to derive certain Ostrowski type inequalities for 3-convex functions.

The weighted Montgomery identity ([3]) states

$$f(x) = \int_{a}^{b} w(t)f(t)dt + \int_{a}^{b} P_{w}(x,t)f'(t)dt$$
(3)

where $w : [a, b] \rightarrow [0, \infty)$ is some nonnegative integrable weight function and $P_w(x, t)$ is the weighted Peano kernel defined by

$$P_{w}(x,t) = \begin{cases} W(t) & \text{for } t \in [a,x], \\ W(t) - 1 & \text{for } t \in (x,b] \end{cases}$$

$$(4)$$

and $\int_{a}^{b} w(s)ds = 1$, $W(t) = \int_{a}^{t} w(s)ds$ for $t \in [a, b]$, W(t)=0, for t < a and W(t) = 1, for t > b. For the uniform weight function $w(t) = \frac{1}{b-a}$, $t \in [a, b]$ the weighted Montgomery idenity reduces to the Montgomery identity (1).

^aFaculty of Geotechnical Engineering, University of Zagreb, Croatia

^bCroatian Academy of Sciences and Arts, Croatia

^c School of Applied Mathematics and Informatics, Josip Juraj Strossmayer University of Osijek, Croatia



In [6] and [5, p.145] the weighted Hermite-Hadamard inequalities for convex functions are given.

Theorem 1.1. Let $p : [a, b] \to \mathbb{R}$ be a nonnegative function. If f is a convex function given on an interval I, then we have

$$f(\lambda) \le \frac{1}{P(b)} \int_{a}^{b} p(x) f(x) dx \le \frac{b - \lambda}{b - a} f(a) + \frac{\lambda - a}{b - a} f(b)$$
(5)

or

$$P(b)f(\lambda) \le \int_{a}^{b} p(x)f(x)dx \le P(b) \left[\frac{b-\lambda}{b-a}f(a) + \frac{\lambda-a}{b-a}f(b)\right],$$
(6)

where

$$P(t) = \int_{a}^{t} p(x)dx \text{ and } \lambda = \frac{1}{P(b)} \int_{a}^{b} xp(x)dx.$$
(7)

If f is a concave function, than the inequalities in (5) and (6) are reversed.

In 1934, Popoviciu [7], among others, introduced the term of higher order convexity by using the divided difference of a function.

Definition 1.1. Let *f* be a real-valued function defined on the segment [a, b]. The divided difference of order *n* of the function *f* at distinct points $x_0, ..., x_n \in [a, b]$, is defined recursively by

$$f[x_i] = f(x_i), (i = 0, ..., n)$$

and

$$f[x_0, \dots, x_n] = \frac{f[x_1, \dots, x_n] - f[x_0, \dots, x_{n-1}]}{x_n - x_0} = \sum_{i=0}^n \frac{f(x_i)}{\prod_{j=0, j \neq i}^n (x_i - x_j)}$$

The value $f[x_0, ..., x_n]$ is independent of the order of the points $x_0, ..., x_n$. A function f is called *n*-convex if all divided differences $f[x_0, ..., x_n]$ are nonnegative.

One can notice that a convex function of order 0 is a nonnegative function, a convex function of order 1 is a nondecreasing function, and the class of 2-convex functions is identical to the class of convex functions. It is an established fact that if f is an n-convex function, then the function $f^{(k)}$ exists and is (n-k)-convex for $1 \le k \le n-2$ (see, for example, [5, p.16]).

The primary objective of this paper is to derive new Ostrowski type inequalities for 3-convex functions and for functions whose modulus of derivatives are convex, through the utilization of the weighted Montgomery identity and the weighted Hermite-Hadamard inequalities. Furthermore, Hermite-Hadamard inequalities for 3-convex functions and for functions whose modulus of derivatives are convex are obtained. This approach generalizes the results given by Cerone and Dragomir in [4] related to the Ostrowski integral inequality.

Extending the Hermite-Hadamard inequalities to 3-convex functions and functions whose modulus of derivatives are convex provides deeper insights into their behavior and gives more accurate estimates of the mean values of the functions based on their values at the ends of the interval and inner points. This extension is useful in optimization, approximation theory, and many other areas in mathematics and applied sciences.

Some newer results dealing with 3-convex functions and generalizations of the Hermite-Hadamard types of inequality for the weighted case can be found in [8] and [9].

Throughout the paper, it is assumed that all integrals under consideration exist and are finite.

2 Main result

In this section, applying the weighted Montgomery identity (3), the weighted Hermite-Hadamard inequalities (6), and the properties of 3-convex functions, we consider new Ostrowski type inequalities for 3-convex functions.

Theorem 2.1. Let $f : [a, b] \to \mathbb{R}$ be an absolutely continuous function and $f' \in L[a, b]$, and let $w : [a, b] \to [0, \infty)$ be some nonnegative integrable weight function, such that $\int_a^b w(s) ds = 1$, and $x \in [a, b]$. If f is a 3-convex function then:

$$\Omega_{1}(x)f'(\lambda_{1}(x)) - \Omega_{2}(x) \left[\frac{b - \lambda_{2}(x)}{b - x} f'(x) + \frac{\lambda_{2}(x) - x}{b - x} f'(b) \right]$$

$$\leq f(x) - \int_{a}^{b} w(t)f(t)dt$$

$$\leq \Omega_{1}(x) \left[\frac{x - \lambda_{1}(x)}{x - a} f'(a) + \frac{\lambda_{1}(x) - a}{x - a} f'(x) \right] - \Omega_{2}(x)f'(\lambda_{2}(x)), \tag{8}$$

where

$$\Omega_1(x) = \int_a^x (x-s)w(s)ds, \quad \Omega_2(x) = \int_x^b (s-x)w(s)ds,$$
(9)

$$\lambda_1(x) = \frac{1}{2\int_a^x (x-s)w(s)ds} \int_a^x (x^2 - s^2)w(s)ds$$
(10)

and

$$\lambda_2(x) = \frac{1}{2\int_x^b (s-x)w(s)ds} \int_x^b (s^2 - x^2)w(s)ds.$$
(11)

If f is a 3-concave function, then the inequalities in (8) are reversed.

Proof. The weighted Montgomery identity states

$$f(x) - \int_{a}^{b} w(t)f(t)dt = \int_{a}^{x} W(t)f'(t)dt - \int_{x}^{b} (1 - W(t))f'(t)dt.$$
(12)

Since *f* is a 3-convex function, the function f' exists and is convex on [a, b], [5, p.16]. So, we apply (6) to get upper and lower estimates for integrals $\int_a^x W(t)f'(t)dt$ and $\int_x^b (1-W(t))f'(t)dt$:

$$\Omega_{1}(x)f'(\lambda_{1}(x)) \leq \int_{a}^{x} W(t)f'(t)dt \leq \Omega_{1}(x) \left[\frac{x - \lambda_{1}(x)}{x - a} f'(a) + \frac{\lambda_{1}(x) - a}{x - a} f'(x) \right]$$
(13)

and

$$\Omega_{2}(x)f'(\lambda_{2}(x)) \leq \int_{x}^{b} (1 - W(t))f'(t)dt \leq \Omega_{2}(x) \left[\frac{b - \lambda_{2}(x)}{b - x}f'(x) + \frac{\lambda_{2}(x) - x}{b - x}f'(b)\right].$$
(14)

Now, we derive $\lambda_1(x)$, $\lambda_2(x)$, $\Omega_1(x)$ and $\Omega_2(x)$ from (7):

$$\Omega_{1}(x) = \int_{a}^{x} W(t)dt = \int_{a}^{x} \left(\int_{a}^{t} w(s)ds\right)dt = \int_{a}^{x} (x-s)w(s)ds,$$

$$\lambda_{1}(x) = \frac{1}{\int_{a}^{x} W(t)dt} \int_{a}^{x} tW(t)dt = \frac{1}{\int_{a}^{x} \left(\int_{a}^{t} w(s)ds\right)dt} \int_{a}^{x} t\left(\int_{a}^{t} w(s)ds\right)dt$$

$$= \frac{1}{2\int_{a}^{x} (x-s)w(s)ds} \int_{a}^{x} (x^{2}-s^{2})w(s)ds,$$

$$\Omega_{2}(x) = \int_{x}^{b} (1-W(t))dt = \int_{x}^{b} \left(\int_{t}^{b} w(s)ds\right)dt = \int_{x}^{b} (s-x)w(s)ds$$

and

$$\lambda_{2}(x) = \frac{1}{\int_{x}^{b} (1 - W(t))dt} \int_{x}^{b} t(1 - W(t))dt = \frac{1}{\int_{x}^{b} (\int_{t}^{b} w(s)ds)dt} \int_{x}^{b} t\left(\int_{t}^{b} w(s)ds\right)dt$$
$$= \frac{1}{2\int_{x}^{b} (s - x)w(s)ds} \int_{x}^{b} (s^{2} - x^{2})w(s)ds.$$

Finally, from (3), using (13) and (14), we get inequalities (8). Further, if f is a 3-concave function, the inequalities in (13) and (14) are reversed, so we obtain opposite inequalities in (8).

Corollary 2.2. Let $f : [a, b] \to \mathbb{R}$ be an absolutely continuous function, $f' \in L[a, b]$ and $x \in [a, b]$. If f is 3-convex then:

$$\frac{(x-a)^2}{2(b-a)}f'\left(\frac{a+2x}{3}\right) - \frac{(b-x)^2}{2(b-a)}\left[\frac{2}{3}f'(x) + \frac{1}{3}f'(b)\right] \\
\leq f(x) - \frac{1}{b-a}\int_a^b f(t)dt \\
\leq \frac{(x-a)^2}{2(b-a)}\left[\frac{1}{3}f'(a) + \frac{2}{3}f'(x)\right] - \frac{(b-x)^2}{2(b-a)}f'\left(\frac{2x+b}{3}\right).$$
(15)

If f is a 3-concave function, then the inequalities in (15) are reversed.



Proof. This is a special case of Theorem 2.1 for $w(t) = \frac{1}{b-a}$, $t \in [a, b]$.

Now, we derive Ostrowski type inequalities for functions whose modulus of derivatives are convex.

Theorem 2.3. Let $f : [a, b] \to \mathbb{R}$ be an absolutely continuous function and $f' \in L[a, b]$, and let $w : [a, b] \to [0, \infty)$ be some nonnegative integrable weight function, such that $\int_a^b w(s) ds = 1$, and $x \in [a, b]$. If |f'| is convex then:

$$\left| f(x) - \int_{a}^{b} w(t)f(t)dt \right|$$

$$\leq \frac{x|f'(a)| - a|f'(x)|}{x - a} \int_{a}^{x} (x - s)w(s)ds + \frac{|f'(x)| - |f'(a)|}{2(x - a)} \int_{a}^{x} (x^{2} - s^{2})w(s)ds$$

$$+ \frac{b|f'(x)| - x|f'(b)|}{b - x} \int_{x}^{b} (s - x)w(s)ds + \frac{|f'(b)| - |f'(x)|}{2(b - x)} \int_{x}^{b} (s^{2} - x^{2})w(s)ds.$$
(16)

If |f'| is concave then:

$$\left| f(x) - \int_{a}^{b} w(t)f(t)dt \right|$$

$$\leq |f'(\lambda_{1}(x))| \int_{a}^{x} (x-s)w(s)ds + |f'(\lambda_{2}(x))| \int_{x}^{b} (s-x)w(s)ds,$$
(17)

where

$$\lambda_1(x) = \frac{1}{2\int_a^x (x-s)w(s)ds} \int_a^x (x^2-s^2)w(s)ds$$

and

$$\lambda_2(x) = \frac{1}{2\int_x^b (s-x)w(s)ds} \int_x^b (s^2 - x^2)w(s)ds$$

Proof. The weighted Montgomery identity states

$$f(x) - \int_{a}^{b} w(t)f(t)dt = \int_{a}^{x} W(t)f'(t)dt - \int_{x}^{b} (1 - W(t))f'(t)dt.$$

Now, using properties of the modulus, we get

$$\left| f(x) - \int_{a}^{b} w(t)f(t)dt \right| = \left| \int_{a}^{x} W(t)f'(t)dt - \int_{x}^{b} (1 - W(t))f'(t)dt \right|$$

$$\leq \left| \int_{a}^{x} W(t)f'(t)dt \right| + \left| \int_{x}^{b} (1 - W(t))f'(t)dt \right|$$

$$\leq \int_{a}^{x} W(t) \left| f'(t) \right| dt + \int_{x}^{b} (1 - W(t)) \left| f'(t) \right| dt.$$
(18)

Further, we apply (6) for convex function |f'| to get upper estimates for integrals $\int_a^x W(t) |f'(t)| dt$ and $\int_x^b (1 - W(t)) |f'(t)| dt$:

$$\int_{a}^{x} W(t) \left| f'(t) \right| dt \le \Omega_{1}(x) \left[\frac{x - \lambda_{1}(x)}{x - a} \left| f'(a) \right| + \frac{\lambda_{1}(x) - a}{x - a} \left| f'(x) \right| \right]$$
(19)

and

$$\int_{x}^{b} (1 - W(t)) \left| f'(t) \right| dt \le \Omega_2(x) \left[\frac{b - \lambda_2(x)}{b - x} \left| f'(x) \right| + \frac{\lambda_2(x) - x}{b - x} \left| f'(b) \right| \right], \tag{20}$$

where

$$\Omega_1(x) = \int_a^x (x-s)w(s)ds, \quad \Omega_2(x) = \int_x^b (s-x)w(s)ds,$$

$$\lambda_1(x) = \frac{1}{2\int_a^x (x-s)w(s)ds} \int_a^x (x^2 - s^2)w(s)ds$$

and

$$\lambda_2(x) = \frac{1}{2\int_x^b (s-x)w(s)ds} \int_x^b (s^2 - x^2)w(s)ds.$$

So, from (18) using (19) and (20) we get inequality (16). If |f'| is concave then from Theorem 1.1 we get

$$\int_{a}^{x} W(t) \left| f'(t) \right| dt \leq \Omega_{1}(x) \left| f'(\lambda_{1}(x)) \right|$$
(21)

and

$$\int_{x}^{b} (1 - W(t)) \left| f'(t) \right| dt \le \Omega_{2}(x) \left| f'(\lambda_{2}(x)) \right|.$$
(22)

Finally, from (18) using (21) and (22) we get inequality (17).

As a special case of Theorem 2.3, for $w(t) = \frac{1}{b-a}$, $t \in [a, b]$, we obtain the same inequality as in paper [4]. **Corollary 2.4.** Let $f : [a, b] \to \mathbb{R}$ be an absolutely continuous function, $f' \in L[a, b]$ and $x \in [a, b]$. If |f'| is convex then:

$$\left| f(x) - \frac{1}{b-a} \int_{a}^{b} f(t) dt \right|$$

$$\leq \frac{(x-a)^{2} |f'(a)| + (b-x)^{2} |f'(b)|}{6(b-a)} + \frac{(x-a)^{2} + (b-x)^{2}}{3(b-a)} |f'(x)|.$$
(23)

If |f'| is concave then:

$$\left| f(x) - \frac{1}{b-a} \int_{a}^{b} f(t) dt \right|$$

$$\leq \frac{(x-a)^{2}}{2(b-a)} \left| f'\left(\frac{2x+a}{3}\right) \right| + \frac{(b-x)^{2}}{2(b-a)} \left| f'\left(\frac{2x+b}{3}\right) \right|.$$
(24)

Proof. This is a special case of Theorem 2.3 for $w(t) = \frac{1}{b-a}$, $t \in [a, b]$.

3 Hermite-Hadamard inequalities for 3-convex functions

Applying results from previous section we obtain Hermite-Hadamard inequalities for 3-convex functions and for functions whose modulus of derivatives are convex.

Theorem 3.1. Let $f : [a, b] \to \mathbb{R}$ be an absolutely continuous function and $f' \in L[a, b]$, and let $w : [a, b] \to [0, \infty)$ be some nonnegative integrable weight function, such that $\int_a^b w(s)ds = 1$ and $\lambda = \int_a^b tw(t)dt$. If f is a 3-convex function then:

$$\Omega(\lambda) \left[f'(\lambda_{1}(\lambda)) - \frac{b - \lambda_{2}(\lambda)}{b - \lambda} f'(\lambda) - \frac{\lambda_{2}(\lambda) - \lambda}{b - \lambda} f'(b) \right]$$

$$\leq f(\lambda) - \int_{a}^{b} w(t) f(t) dt$$

$$\leq \Omega(\lambda) \left[\frac{\lambda - \lambda_{1}(\lambda)}{\lambda - a} f'(a) + \frac{\lambda_{1}(\lambda) - a}{\lambda - a} f'(\lambda) - f'(\lambda_{2}(\lambda)) \right], \qquad (25)$$

where

$$\Omega(\lambda) = \int_{a}^{\lambda} (\lambda - s) w(s) ds, \qquad (26)$$

$$\lambda_1(\lambda) = \frac{1}{2\int_a^\lambda (\lambda - s)w(s)ds} \int_a^\lambda (\lambda^2 - s^2)w(s)ds$$
⁽²⁷⁾

and

$$\lambda_2(\lambda) = \frac{1}{2\int_{\lambda}^{b} (s-\lambda)w(s)ds} \int_{\lambda}^{b} (s^2 - \lambda^2)w(s)ds.$$
⁽²⁸⁾

If f is a 3 concave function, then the inequalities in (25) are reversed.

Proof. Applying (8) with $\lambda = \frac{1}{\int_a^b w(t)dt} \int_a^b tw(t)dt = \int_a^b tw(t)dt$ instead of *x*, for a 3-convex function *f*, we obtain the inequalities (25). Further, by elementary calculations from (9), (10) and (11) we get $\Omega_1(\lambda) = \Omega_2(\lambda) = \int_a^\lambda (\lambda - s)w(s)ds$ and

$$\lambda_2(\lambda) = \frac{\int_a^b (s^2 - \lambda^2) w(s) ds}{2 \int_a^\lambda (\lambda - s) w(s) ds} + \lambda_1(\lambda),$$

where

$$\lambda_1(\lambda) = \frac{1}{2\int_a^\lambda (\lambda - s)w(s)ds} \int_a^\lambda (\lambda^2 - s^2)w(s)ds,$$
$$\lambda_2(\lambda) = \frac{1}{2\int_\lambda^b (s - \lambda)w(s)ds} \int_\lambda^b (s^2 - \lambda^2)w(s)ds.$$

Similarly, if f is a 3 concave function, then using Theorem 2.1, we derive the reversed inequalities in (25).

Corollary 3.2. Let $f : [a, b] \to \mathbb{R}$ be an absolutely continuous function and $f' \in L[a, b]$. If f is a 3-convex function then:

$$\frac{b-a}{8} \left[f'\left(\frac{2a+b}{3}\right) - \frac{2}{3}f'\left(\frac{a+b}{2}\right) - \frac{1}{3}f'(b) \right]$$

$$\leq f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_{a}^{b} f(t)dt$$

$$\leq \frac{b-a}{8} \left[\frac{1}{3}f'(a) + \frac{2}{3}f'\left(\frac{a+b}{2}\right) - f'\left(\frac{a+2b}{3}\right) \right]. \tag{29}$$

If f is a 3-concave function, then the inequalities in (29) are reversed.

Proof. This is a special case of Theorem 3.1 for $w(t) = \frac{1}{b-a}$, $t \in [a, b]$.

Theorem 3.3. Let $f : [a, b] \to \mathbb{R}$ be an absolutely continuous function and $f' \in L[a, b]$, let $w : [a, b] \to [0, \infty)$ be some nonnegative integrable weight function, such that $\int_a^b w(s)ds = 1$ and $\lambda = \int_a^b tw(t)dt$. If |f'| is convex then:

$$\left| f(\lambda) - \int_{a}^{b} w(t)f(t)dt \right|$$

$$\leq \left(\frac{\lambda |f'(a)| - a|f'(\lambda)|}{\lambda - a} + \frac{b|f'(\lambda)| - \lambda |f'(b)|}{b - \lambda} \right) \int_{a}^{\lambda} (\lambda - s)w(s)ds$$

$$+ \frac{|f'(\lambda)| - |f'(a)|}{2(\lambda - a)} \int_{a}^{\lambda} (\lambda^{2} - s^{2})w(s)ds + \frac{|f'(b)| - |f'(\lambda)|}{2(b - \lambda)} \int_{\lambda}^{b} (s^{2} - \lambda^{2})w(s)ds.$$
(30)

If |f'| is concave then:

$$\left| f(\lambda) - \int_{a}^{b} w(t)f(t)dt \right|$$

$$\leq \left(|f'(\lambda_{1}(\lambda))| + |f'(\lambda_{2}(\lambda))| \right) \int_{a}^{\lambda} (\lambda - s)w(s)ds,$$
(31)

where $\lambda_1(\lambda)$ and $\lambda_2(\lambda)$ are given by (27) and (28).

Proof. Applying (16) and (17) with $\lambda = \frac{1}{\int_a^b w(t)dt} \int_a^b tw(t)dt = \int_a^b tw(t)dt$ instead of *x*, we obtain inequalities (30) and (31), respectively.

Corollary 3.4. Let $f : [a, b] \to \mathbb{R}$ be an absolutely continuous function and $f' \in L[a, b]$. If |f'| is convex then:

$$\left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_{a}^{b} f(t)dt \right|$$

$$\leq \frac{b-a}{24} \left[\left| f'(a) \right| + 4 \left| f'\left(\frac{a+b}{2}\right) \right| + \left| f'(b) \right| \right].$$
(32)

If |f'| is concave then:

$$\left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_{a}^{b} f(t) dt \right|$$

$$\leq \frac{b-a}{8} \left[\left| f'\left(\frac{2a+b}{3}\right) \right| + \left| f'\left(\frac{a+2b}{3}\right) \right| \right].$$
(33)

Proof. This is a special case of Theorem 3.3 for $w(t) = \frac{1}{b-a}$, $t \in [a, b]$.

Remark 1. The inequality (32) was first proved by Cerone and Dragomir in [4]. **Theorem 3.5.** Let $f : [a, b] \to \mathbb{R}$ be an absolutely continuous function and $f' \in L[a, b]$, and let $w : [a, b] \to [0, \infty)$ be some non-negative integrable weight function such that $\int_a^b w(s) ds = 1$ and $\lambda = \int_a^b tw(t) dt$. If f is 3-convex then:

$$\frac{(b-\lambda)(\lambda-a)}{b-a} \left[f'(\lambda_1(b)) - \frac{b-\lambda_2(a)}{b-a} f'(a) - \frac{\lambda_2(a)-a}{b-a} f'(b) \right]$$

$$\leq \frac{b-\lambda}{b-a} f(a) + \frac{\lambda-a}{b-a} f(b) - \int_a^b w(t) f(t) dt$$

$$\leq \frac{(b-\lambda)(\lambda-a)}{b-a} \left[\frac{b-\lambda_1(b)}{b-a} f'(a) + \frac{\lambda_1(b)-a}{b-a} f'(b) - f'(\lambda_2(a)) \right],$$
(34)

where

$$\lambda_1(b) = \frac{1}{2(b-\lambda)} \int_a^b (b^2 - s^2) w(s) ds$$
(35)

and

$$\lambda_2(a) = \frac{1}{2(\lambda - a)} \int_a^b (s^2 - a^2) w(s) ds.$$
(36)

If f is a 3-concave function, then the inequalities in (34) are reversed.

Proof. The proof is similar to the proof of Theorem 2.1.

Corollary 3.6. Let $f : [a, b] \to \mathbb{R}$ be an absolutely continuous function and $f' \in L[a, b]$. If f is 3-convex then:

$$\frac{b-a}{4} \left[f'\left(\frac{a+2b}{3}\right) - \frac{2}{3}f'(a) - \frac{1}{3}f'(b) \right] \\
\leq \frac{f(a)+f(b)}{2} - \frac{1}{b-a} \int_{a}^{b} f(t)dt \\
\leq \frac{b-a}{4} \left[\frac{1}{3}f'(a) + \frac{2}{3}f'(b) - f'\left(\frac{2a+b}{3}\right) \right].$$
(37)

If f is a 3-concave function, than the inequalities in (37) are reversed.

Proof. This is a special case of Theorem 3.5 for $w(t) = \frac{1}{b-a}$, $t \in [a, b]$.

Theorem 3.7. Let $f : [a, b] \to \mathbb{R}$ be an absolutely continuous function and $f' \in L[a, b]$, and let $w : [a, b] \to [0, \infty)$ be some non-negative integrable weight function such that $\int_a^b w(s)ds = 1$ and $\lambda = \int_a^b tw(t)dt$. If |f'| is convex then:

$$\left| \frac{b-\lambda}{b-a} f(a) + \frac{\lambda-a}{b-a} f(b) - \int_{a}^{b} w(t) f(t) dt \right|$$

$$\leq \frac{(b-\lambda)(\lambda-a)}{b-a} \left(\frac{2b-\lambda_{1}(b)-\lambda_{2}(a)}{b-a} |f'(a)| + \frac{\lambda_{1}(b)+\lambda_{2}(a)-2a}{b-a} |f'(b)| \right).$$
(38)

If |f'| is concave then:

$$\left| \frac{b-\lambda}{b-a} f(a) + \frac{\lambda-a}{b-a} f(b) - \int_{a}^{b} w(t) f(t) dt \right|$$

$$\leq \frac{(b-\lambda)(\lambda-a)}{b-a} \left(|f'(\lambda_{1}(b))| + |f'(\lambda_{2}(a))| \right),$$
(39)

where $\lambda_1(b)$ and $\lambda_2(a)$ are given by (35) and (36).

Proof. The proof is similar to the proof of Theorem 2.3.

Corollary 3.8. Let $f : [a, b] \to \mathbb{R}$ be an absolutely continuous function and $f' \in L[a, b]$. If |f'| is convex then:

$$\left| \frac{f(a) + f(b)}{2} - \frac{1}{b - a} \int_{a}^{b} f(t) dt \right|$$

$$\leq \frac{b - a}{4} \left[\left| f'(a) \right| + \left| f'(b) \right| \right].$$
(40)

If |f'| is concave then:

$$\left| \frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_{a}^{b} f(t) dt \right|$$

$$\leq \frac{b-a}{4} \left[\left| f'\left(\frac{2a+b}{3}\right) \right| + \left| f'\left(\frac{a+2b}{3}\right) \right| \right].$$
(41)

Proof. This is a special case of Theorem 3.7 for $w(t) = \frac{1}{b-a}$, $t \in [a, b]$.

References

- Ostrowski, A: Über die Absolutabweichung einer differentiebaren Funktion von ihrem Integralmittelwert. Comment. Math. Helv. 10, 226–227 (1938)
- [2] Mitrinović, DS, Pečarić, JE, Fink, AM: Inequalities for functions and their integrals and derivatives, Kluwer Academic Publishers, Dordrecht 1994.
- [3] Pečarić, J: On the Čebyšev inequality, Bul. Inst. Politehn. Timisoara, 25(39), 10–11 (1980)
- [4] Cerone, P. Dragomir, SS: Ostrowski type inequalities for functions whose derivatives satisfy certain convexity assumptions, Demonstratio Math, 37(2), 299â308 (2004)
- [5] Pečarić, JE, Proschan, F, Tong, Y .: Convex Functions, Partial Orderings, and Statistical Applications. Academic Press, San Diego (1992)
- [6] Pečarić, J, Perić, I: Refinements of the integral form of Jensen's and the Lah-Ribarić inequalities and applications for Csisyar divergence, J. Inequal. Appl. 2020 (108) (2020), pp.16.
- [7] Popoviciu, T: Sur l'approximation des fonctions convexes d'ordre superieur. Mathematica 10, 49-54 (1934)
- [8] Van, D.T.T., Vu, T.M., Huy, D.Q.: HermiteâHadamard type inequalities for higher-order convex functions and applications. J Anal 32, 869–888 (2024)
- [9] Marinescu, D.S., Niculescu, C.: Old and new on the 3-convex functions. 10.48550/arXiv.2305.04353. (2023)